;> restart :
| Cl:

V'V

>

X\ ) - 24 (A + 4y = o

Ecuacion = x- (diff (y(x),x))--2 —2-
FEcuacion = x ( (x)

Solucion = dsolve(Ecuacion);

2
Solucion =y(x) =-2x,y(x) =2x,y(x) =~ 1 (— 2 5 —4] _Cl
2\ c1
SolucionSingularl := Solucion,;
SolucionSingularl ==y(x) =-2x
SolucionSingular2 := Solucion,;
SolucionSingular? .= y(x) =2 x
SolucionGeneral == expand ( Solucion, );
2
SolucionGeneral :=y(x) = ; _xCl +2 ClI
EcuacionAlgebraical := rhs(SolucionSingularl) =rhs(SolucionGeneral);
2
EcuacionAlgebraical := -2 x = ; _xC] +2 ClI
Parametro := solve(EcuacionAlgebraical, CI);
R S
Parametro .= ) X, ) b

SolucionParticularl = y(x) =x--2 + 1;
SolucionParticularl == y(x) —¥ +1

EcuacionAlgebraica? := rhs(SolucionParticularl) =rhs(SolucionGeneral);

EcuacionAlgebraica2 = C4l= 1 X +2 CI
2 (I
Parametro?2 := solve( EcuacionAlgebraica2, Cl);
1 1 »
Parametro2 .= ERE) X
with(DEtools)
odeadvisor(Ecuacion);

[ [ _homogeneous, class A], rational, dAlembert]

EcuacionSeparada = expand(eval(subs(y(x) =u(x)-x, Ecuacion)));
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2
EcuacionSeparada = (d u(x) ) X —x u(x)2 +4x=0 (12)

dx
EcuacionIntermedia = simplify(isolate( EcuacionSeparada, diff (u(x),x)--2));
2
Ecuacionlntermedia = (d u(x) ) = Lzél 13)
dx X
. . 1 1
SolucionGeneral = mt( ) mt(— )
sqrt(u--2 —4) X
SolucionGeneral := ln(u +Vu 4 — In( (14)
SolucionFinal := szmplzﬁ/(subs(u = % SoluczonGeneml )
e / B —y +4x
SolucionFinal == In —In(x 15)
restart .
n _*.I CQ§E27 = 0
Zx (4 v’ SN )( Ax
Ecuacion = 2-x-y(x)-log(y(x) (x2+y(x)--2- sqrt(y( )2+ 1)) -diff (v =0;
Ecuacion =2 x y(x) ln(y(x)) + (x +y(x) y(x) +1 ) ((?x y(x)) =0 (16)
with(DEtools) -
odeadvisor(Ecuacion);
[[_Ist order, with symmetry [F(x)*G(y),0]]1] a7
intfactor(Ecuacion);
1
18
y(x) (1)
M(x,y) = 2-x-y-log(y);
M(x,y) =2xyln(y) 19

Nxy) =24y V) +1;
N(x,y) = x2 -I-y2 N y2 +1 (20)

Faclnt ==

‘<|»—‘

Faclnt = 1 (21)
y

MM (x,y) = simplify(FacInt-M(x, y) );
MM (x,y) :==2x1n(y) (22)

NN (x,y) = simplify(FacIlnt-N (x, y));

(23)



2 2 /.2
NN (x,y) = TV Ny F] (23)

| y
> comprobacionl = diff (MM (x, y), y) — diff (NN (x,y),x) =0;
i comprobacionl :=0=0 24)
> IntMMx = int(MM (x, y), x);
IntMMx = x* In(y) (25)

_> SolucionGeneral := IntMMx + int( (NN (x,y) — diff (IntMMx, y)), y) =ClI,

3/2
SolucionGeneral := x* In(y) + % (y2 + 1) =Cl (26)




